
CF5340 Instruction Manual



2
1

3.2mm

6mm



2

Assembly Drawing

[1]  3xScrews M6x12
[2]  2xGlass Clips
[3]  18xScrew Cover Caps
[4]  10xScrews M4x35
[5]  2xWall Posts

[6] 2xFixed Panels
[7]  1xSupport Bar
[8]  1xWall Connectors
[9]   8xScrews M4x8
[10] 10xWall Plugs

[3]

[2]

[1]

[5]

[7]

[8]

[9]

[10]

[6]

[6]

[4]



Installation Steps

Step 1

3

St p 2e

2

31

4

M4x35

3

2

4

1 2

2



St p 3e

St p 4e

4

2a

2c

2b

2d

1

1

2

1a 1b


	页 1
	页 2
	页 3
	页 4
	页 5

